AN geromop
l“ Wastewoler Process Solutions

AERO-MOD INC. o
7927 U.S. Highway 24 Invoice No.
Manhattan, KS 66502
Fed. ID #34-1829167
(785)537-4995
Fax (785)537-9105

To: TOWN OF MCCORDSVILLE
6280 W 800 NORTH
MCCORDSVILLE, IN 46055

Date
Job Name

Job Location

12710

October 23, 2020

MCCORDSVILLE WWTP

MCCORDSVILLE, IN

Terms: Per terms of Scope of Services
REFERENCE DESCRIPTION
LS TO FURNISH (1) PACKAGE WASTEWATER TREATMENT PLANT AND

APPURTENCES IN ACCORDANCE WITH SCOPE OF SUPPLY DATED 2/7/2020

LUMP SUM AMOUNT OF THIS PURCHASE ORDIER
PAY REQUEST #1: (PO RECEIVED) INITIAL 10% PAYMENT

PAY REQUEST #2: EQUIPMENT SHIPPED ON 10/23/2020

LESS 5% RETAINAGE WITHELD UNTIL STARTUP

NOTES TO THIS INVOICE:
1) BOL, AND PACKING LIST INCLUDED WITH TTIIS INVOICE

TOTAL AMOUNT DUE THIS INVOICE

$549,600.00

$52,212.00

AMOUNT

$241,243.00

($12,062.15)

$229,180.85

TAX EXEMPT PER CERTIFICATE HELD BY CITY OF MCCORDSVILLE

Thank You



Truck #1 BILL OF LADING ~ ORIGINAL — NOT NEGOTIABLE Page1of1
Bill of Lading Number: 4004

SHIP FROM

;AERO-MOD,INC. {785)537-4995
i 7927 US Highway 24
. Manhattan, Kansas 66502

Date: October 23, 2020
. Fed. ID# 34-1829167 |
SHIP TO Carrier Name: NORSEMEN
WALSH CONSTRUCTION Trailer number:
:.C/0 MCCORDSVILLE WWTP :
: S x
8260 N 600 erial number(s)

MCCORDSVILLE, IN 46055
|

Special Instructions

Shipping HM Commodity Description | Weight Rate

F Charges
units | Commodities requiring special or additional care or attention in handling or stowing must be so marked and packaged as to ensure safe
transportation with ordinary care. See Section 2(e) of NMFC item 360
2  20' DW COMPLETE ASSEMBLY (1/2" RAS) (SNs: 908, 909)
2 BUNDLES OF 20 RAS UPPERS
2 BUNDLES OF 20 RAS MIDDLES
1 BUNDLE OF 26 GUIDE RAILS
1 SKID WITH AL-600 AND ONE SET OF ALUMINUM STAIRS
4 | SKIDS WITH 20 SUCTION HOODS AND 4 INLET SCREENS N N
1 | 'BUNDLE OF 2 SIDE AND 3 CENTER DISTRIBUTORS -
2  'SKIDS WITH 13 SLIDE GATES AND 13 FRAMES AND 4 PVH AIR HEADERS
1 ICRATE #2 WITH INSTALLATION HARDWARE
1 CRATE #3 WITH INSTALLATION HARDWARE ) -
~—ZAC PARTLOW 317-436-7605
- Please call ZAC-and in?orm him of y_our expec-ted deli;ery ﬁ- - - o ) . |
Where the rate is dependent on value, shippers are required to state specifically in writing the agreed or declared value of  COD Amount: Fee terms:
::ieper;;:‘:rty as follows: "The;freed or declared value of the property is specifically stated by the shipper to be not s £ Collet £ Prepaid ™ Customer check accaptable

Note: Liability limitation for loss or damage in this shipment may b.e applicable. See 49 USC § 14706(c)(1)(A) and.(.B).

: Received, subject to individually determined rates or contracts that have been agreed upon in The carrier shall not make delivery of this shipment without payment of charges and all other
: writing between the carrier and shipper, if applicable, otherwise to the rates, classifications, and

. rules that have been established by the carrier and are available to the shipper, on request, and lawful fees.
* to all applicable state and federal regulations. Shipper Signature
ignature/Date Trailer Loaded: Cargier Si e “@Ga !
/ sz szﬁ i/~ By shipper
certif ve named materials are properly ciassiffed, ‘packaged, marked, and Carrier acknowledges receipt of packages and required placards. Carrier certifies emergency
labeled, and are i per condition for transportation according to the applicable regulations a By driver response information was made available and/or carrier has the DOT emergency response
of the DOT. d

guidebook or equivalent documentation in the vehicle, Property described above is received in
good order, except as noted.



AN qaeromoL
'L. A Wastewater Process Sofutions

Packing List

Aero-Mod, Inc.

7927 U.S. Highway 24
Manhattan, KS 66502
Phone: 785-537-4995
Fax: 785-537-9105

Shipper No:
Ship Date:
Ship Co.:

Contact Name: ZAC PARTLOW

Contact Phone #: 3174367605

Ship To Bill To
MCCORDSVILLE WWTP WALSH CONSTRUCTION
8260 N 600 929 WEST ADAMS STREET

MCCORDSVILLE, IN 46055

CHICAGQO, IL 60607

Your Order No.:

Truck No.: Our Job No.:
Truck #1 2079.6.IN.MCC.20
Qty.
Item ID Description UM Qty. Shipped
DWA-20-## (ASSEMBLY) 1/2™ 20' DW COMPLETE ASSEMBLY (1/2" RAS) (SNs: 908, 809) | EA 2
DW RAS MID-C SUBASSY (1/2") DW RAS AIR LIFT MIDDLE SUB ASSEMBLY, 1/2" AIR EA 20
DW RAS UPR-C SUBASSY (1/2™) DW RAS AIRLIFT UPPER SUB ASSY, 1/2" AIR EA 20
SKIMMER ASSY COMPLETE (INCLUDES FITTINGS,
SKIMMER ASSY HOSE, RO EA 12
FC-AM0200 4" FIBERGLASS SUCTION HOOD EA 20
RAS VALVE ASSY FOR CROSSOVER APPLICATIONS
RAS-VA-04-FC (DW ONL EA 2
20-S-DISTRIB ASSY 20FT SIDE DISTRIBUTOR ASSY EA 2
SCREEN, ROUND SS INLET, 8~ (ASSEMBLY) (AERATION
RS-95-A B3) EA 2
20-C-DISTRIB ASSY 20FT CENTER DISTRIBUTOR ASSY EA 3
6010954 WILO GUIDE RAIL FIXATION SET 7 (UPPER) EA 2
6011005 WILO GUIDE RAIL FIXATION SET 3 (LOWER) EA 2
WA-100 (10" TANK) GUIDE RAIL W/TAB (POST AIR) EA 1
WA-100 (16" TANK) GUIDE RAIL W/TAB EA 26
RW4000-A-2042-FRAME STAINLESS STEEL FRAME 20"W x 42"T EA 11
RW4000-A-2038-GATE ALUMINUM STOP GATE 20"W x 38"T EA 11
RW4000-A-2024-FRAME STAINLESS STEEL FRAME 20"W x 24"T EA 1
RW4000-A-2020-GATE ALUMINUM STOP GATE 20"W x 20"T EA 1
RW4000-A-2442-FRAME STAINLESS STEEL FRAME 24"W x 42"T EA 1
RW4000-A-2438-GATE ALUMINUM STOP GATE 24"W x 38"T EA 1
WAS AL-600 ASSY AIR LIFT 600 ASSY EA 1
PVH-006-ASSY HEADER ASSY, 6" POSITIONING VALVE, STD EA 1
PVH-004-ASSY HEADER ASSY, 4" POSITIONING VALVE, STD EA 1

Page 1




& AEROIMOL
'L.‘ Wastewater Process Solutions

Packing List

Aero-Mad, Inc.

7927 U.S. Highway 24
Manhattan, KS 66502
Phone: 785-537-4995
Fax: 785-537-9105

Shipper No:
Ship Date:
Ship Co.:

Contact Name: ZAC PARTLOW

Contact Phone #: 3174367605

Ship To Bill To
MCCORDSVILLE WWTP WALSH CONSTRUCTION
8260 N 600 929 WEST ADAMS STREET

MCCORDSVILLE, IN 46055

CHICAGO, IL 60607

Your Order No.:

Truck No.: Our Job No.:

Truck #1 2019.6.IN.MCC.20
Qty.

Item ID Description UM Qty. Shipped
1-1/4 HANDRAIL POST-STD STAIR ALUM FAB STAIR, 25.5" W x 36.63" RISE, WALL MNT EA 1
GRATING PANEL FOR PHILADELPHIA GRATING PANEL FOR PHILADELPHIA EA 1
CRATE #2 SEE CRATE PACKING LIST FOR DETAILS EA 1
CRATE #3 SEE CRATE PACKING LIST FOR DETAILS EA 1

SCREEN, ROUND SS INLET, 10 (ASSEMBLY)
RS-97-A (AERATION B3) EA 2

Page 2




Aero-Mod, Inc.

7927 U.S. Highway 24
Manhattan, KS 66502
Phone: 785-537-4995
Fax: 785-537-9105

Ship Date: 18

Ship Co.:

Contact Name: ZAC

PARTLOW

Packing List

Shipper No: [Bi

Contact Phone #: 3174367605

Ship To Bill To
MCCORDSVILLE WWTP WALSH CONSTRUCTION
8260 N 600 929 WEST ADAMS STREET

MCCORDSVILLE, IN 46055

CHICAGO, IL 60607

Your Order No.:

Crate No.: Our Job No.:

Crate #2 2019.6.IN.MCC.20
Qty.
Item ID Description UM Qty. Shipped
1367K11 SAF-T-EZE COPPER ANTI SEIZE EA
EXPANDING POLYURETHANE FOAM INSULATION- 2402
8551K311 CAN EA
DW RAS LWR-C SUBASSY DW RAS AIR LIFT LOWER SUB ASSEMBLY EA
1056-88 8" FERNCO COUPLER EA
RASUBOLTKIT RAS CROSS SUPPORT U-BOLT KIT EA
4" #171 COMPOSITE FLEXIBLE COUPLING WITH E2
VICTAULIC 4™ #171 COMPOSITE EPDM G EA
20-S-DIST HRDW KIT 20FT SIDE DISTRIBUTOR HARDWARE KIT EA
20-C-DIST HRDW KIT 20FT CENTER DISTRIBUTOR HARDWARE KIT EA
SPCL WALL AERATOR 2IN VALVE ASSEMBLY (POST
WA 2.0 VALVE-ASSY AIR) EA
WA-006 EXTENDED GUIDE BRACKET WALL AERATOR EA
WAFB-1 BRACKET- WALL AERATOR FLOOR EA
1/2"°X3-3/4 304SS WEDGE ANCHOR (TOTAL FOR PROJ -
WW-1236 LESS W/W'S) EA
HS1530 2-3/8"" 1.D. MARINE FLEX HOSE FT
6740-1 6740-1 SS HOSE CLAMP (#40) 2" X3 EA
WALLAERATORKIT-2 WALL AERATOR BOLT KIT (2 INCH) EA
WA 2.0 VALVE-ASSY WALL AERATOR 2IN VALVE ASSEMBLY EA
WW-1254 1/2"X5-1/2" 304SS WEDGE ANCHOR (MIXERS & HOISTS) | EA
U-BOLT- 8™ 8" IPS 5/16-18 304SS U-BOLT EA
U-BOLT- 10" 10" IPS 5/16-18 304SS U-BOLT EA
U-BOLT- 12" 12" IPS 5/16-18 304SS U-BOLT EA
U-BOLT- 2" 2" IPS 5/16-18 304SS U-BOLT EA
U-BOLT-6"" 6 IPS 5/16-18 304SS U-BOLT EA

Page 1




Pack

Aero-Mod, Inc.

7927 U.S. Highway 24
Manhattan, KS 66502
Phone: 785-537-4995
Fax: 785-537-9105

Shipper No: [BE
Ship Date: [0S

Ship Co.: [NOKE
Contact Name: ZAC PARTLOW

ing List

Contact Phone #: 3174367605

MCCORDSVILLE, IN 46055

Ship To Bill To
MCCORDSVILLE WWTP WALSH CONSTRUCTION
8260 N 600 929 WEST ADAMS STREET

CHICAGO, IL 60607

Your Order No.:

Page 2

Crate No.: Our Job No.:
Crate #2 2019.6.IN.MCC.20
Qty.

Item ID Description UM Qty. Shipped
U-BOLT-4" 4" |PS 5/16-18 304SS U-BOLT EA 7
CSC02-0908-1.57"IP 8"x1-1/2" IPS SINGLE BAND SS TAP SADL, 8"WIDE EA 8
CSC02-0908-2""IP 8" X2" IPS SINGLE BAND SS TAP SADL, 8" WIDE EA 26
836-020 2" PVC SCH80 MALE ADAPTER MIP X SOC ADAPTER EA 26

6'X1-1/2" PVC CLAMP-ON SADDLE X SOC TEE-EPDM
466SE-527 SEAL-SS HRDWR EA 5

6 'X2"" PVC CLAMP-ON SADDLE X SOC TEE-EPDM SEAL-
466SE-528 SS HRDWR EA 34
5/16"" SS FLAT WASHR 5/16"° SS FLAT WASHER EA 400
5/16°-18 SS NUT 5/16°-18 SS NUT EA 400
5/8"" SS FLAT WASHER 5/8"" SS FLAT WASHER EA 70
5/8"-11 SS NUT 5/8-11 SS NUT EA 70
3/4" SS FLAT WASHER 3/4 SS FLAT WASHER EA 730
3/4""-10 SS NUT 3/4"-10 SS NUT EA 730
7/8"° SS WASHER 7/8"" SS FLAT WASHER EA 270
7/8°-9 SS NUT 7/8'"-9 SS NUT EA 270
5/8-11X6 SS THREADED STUD 5/8""-11X6 304SS FULL THREADED STUD EA 35
3/4-10X6 SS THREADED STUD 3/4""-10X6 304SS FULL THREADED STUD EA 365
7/8°-9X8 SS THREADED STUD 7/8'"-9X8 304SS FULL THREADED STUD EA 140
HS1529 1-7/8"" 1.D. MARINE FLEX HOSE FT 13
6736-1 6736-1 SS HOSE CLAMP (#36) 1-3/4"X2-3/4™ EA 30

107°X1/16™" 150# EPDM FULL FACE FLNG GSKT (EXG
GSKO05F150. 06X10.00 CLARIFIER B1) EA 2
7/8°-9X3-1/2 8S HHCS 7/8-9X3-1/2 SS HHCS (EXG CLARIFIER B1) EA 12
7/8" SS WASHER 7/8" SS FLAT WASHER (EXG CLARIFIER B1) EA 24




Packing List

Aero-Mod, Inc.

7927 U.S. Highway 24
Manhattan, KS 66502
Phone: 785-537-4995
Fax: 785-537-9105

Shipper No:
Ship Date:
Ship Co.:

Contact Name: ZAC PARTLOW

Contact Phone #: 3174367605

Ship To Bill To
MCCORDSVILLE WWTP WALSH CONSTRUCTION
8260 N 600 929 WEST ADAMS STREET

MCCORDSVILLE, IN 46055

CHICAGO, IL 60607

Your Order No.:

Crate No.: Our Job No.:
Crate #2 2019.6.IN.MCC.20
Qty.

Item ID Description UM Qty. Shipped
7/8"-9 SS NUT 7/8°°-9 SS NUT (EXG CLARIFIER B1) EA 12

1-1/2° PVC SCH80 MALE ADAPTER MPT X SOC (HEAVY
HA-1515 DUTY) EA 2

8°X1/16" 150# EPDM FULL FACE FLANGE GASKET
GSKO05F150. 06X08.00 (AERATION B3) EA 6

107°X1/16™ 150# EPDM FULL FACE FLANGE GASKET
GSKO5F150. 06X10.00 (AERATION B3) EA 2
TR-001-V2 ASSY ROD, TRANSDUCER, MEZZO-DB (COMPLETE) EA 2

Page 3




Packing List

Aero-Mod, Inc.

7927 U.S. Highway 24
Manhattan, KS 66502
Phone: 785-537-4995
Fax: 785-537-9105

Shipper No:
Ship Date:
Ship Co.:

Contact Name: ZAC PARTLOW
Contact Phone #: 3174367605

Ship To Bill To
MCCORDSVILLE WWTP WALSH CONSTRUCTION
8260 N 600 929 WEST ADAMS STREET

MCCORDSVILLE, IN 46055

CHICAGQO, IL 60607

Your Order No.:

Crate No.: Our Job No.:

Crate #3 2019.6.IN.MCC.20
Qty.

Item ID Description UM Qty. Shipped
SKIMMER HEAD ASSY FLOATING SKIMMER HEAD ASSY (W/ PIPE AND WEIR) EA 16
FCB-102 BRACKET- RAS CONNECTING EA 10
AWB-16 16" ANGLE WALL BRACKET EA 10
ISB-001-A LEG- SCREEN BRACKET EA 0
ISB-001-B BRACE- SCREEN BRACKET EA 2
SC-LHS2 BOTTOM BRACKET CENTER DISTRIBUTOR EA 15
SC-UHS2 TOP BRACKET CENTER DISTRIBUTOR EA 15
1SB-001-A LEG- SCREEN BRACKET EA 3
ISB-001-B BRACE- SCREEN BRACKET EA 3
DIFHEADER-P2-ASSY DIFFUSER HEADER ASSY P2 (POST AIR) EA 1

EDI FLEX AIR 256-91-502 T-SERIES DIFFUSER- EPDM
256 3.625°X20™ EA 110
439-210 1-1/2"X3/4" PVC SCH40 REDUCER BUSHING MPT X FPT | EA 232
DIFHEADER-P6-ASSY DIFFUSER HEADER ASSY P6 EA 18
DIFHEADER-P4-ASSY DIFFUSER HEADER ASSY P4 EA 18
76120 24" CYCLONE DIFFUSER EA 88
DIFHEADER-H2-ASSY DIFFUSER HEADER ASSY H2 EA 24
13SSWB 13" WALL BRACKET EA 38
HD-23-S2 23" HD ANGLE WALL BRACKET EA 15
AWB-23 23"ANGLE WALL BRACKET EA 15

23" ANGLE/ANGLE WALL BRACKET, AIR LIFT DRAIN
AAWB-23-AD SUPPORT EA 1

30" ANGLE/ANGLE WALL BRACKET, AIR LIFT DRAIN
AAWB-30-AD SUPPORT EA 6
6SSWB 6" WALL BRACKET EA 2

Page 1



Packing List

Aero-Mod, Inc.

7927 U.S. Highway 24
Manhattan, KS 66502
Phone: 785-537-4995
Fax: 785-537-9105

Shipper No:

Ship Date:

Ship Co.:

Contact Name: ZAC PARTLOW
Contact Phone #: 3174367605

Ship To Bill To
MCCORDSVILLE WWTP WALSH CONSTRUCTION
8260 N 600 929 WEST ADAMS STREET

MCCORDSVILLE, IN 46055

CHICAGO, IL 60607

Your Order No.:

Crate No.: Our Job No.:
Crate #3 2019.6.IN.MCC.20
Qty.

Item ID Description UM Qty. Shipped
10SSWB 10" WALL BRACKET EA 59
AWB-12 12" ANGLE WALL BRACKET EA 9
AWB-16 16"ANGLE WALL BRACKET EA 11
AWB-20 20 ANGLE WALL BRACKET EA 8
13SSWB-11 13" WALL BRACKET, 11 TALL EA 6
SPARE PARTS BOX CLEAR PLASTIC BOX, ELEC SPARE PARTS EA 1
SKIMMER HEAD ASSY FLOATING SKIMMER HEAD ASSY (W/ PIPE AND WEIR) EA 1
SG-ROD SKIMMER GUIDE ROD EA 6
00213 91-502 EDI EPDM MEMBRANE REPLACEMENTS EA 2
00290 S.S. CLAMPS FOR EDI MEMBRANES EA 4
00278 CRIMPING TOOL FOR EDI DIFFUSERS EA 1
ISP-001 INLET SCREEN PLUG ASSY EA 3
62PLP-4 1/4* OD TUBE BRASS PRESTOLOC UNION EA 2
62PLP-6 3/8 OD TUBE BRASS PRESTOLOC UNION EA 1

HUM M154-39-120-50-60

4 WAY MANIFOLD MOUNT 120V SOL. EA 4

800L-18L10R

PILOT LIGHT- 18MM- LED- 120VAC- RED EA 1

800L-18L10G

PILOT LIGHT-18MM-LED- 120VAC- GREEN EA 1

800L-22L10R

PILOT LIGHT-22MM-LED- 120VAC- RED EA 1

800L-221.24C

PILOT LIGHT-22MM-LED-24VDC - CLEAR EA 1

700-HLT1Z224

RELAY- 6 AMP- 24VDC- TERMINAL RELAY EA 1

1/4” TUBING PAIR-RED/RED

174~ NYLON TUBING PAIR SPOOLED TOGETHER @

EQUAL LNGTH (JOB)

FT 430

1/4 TUBING PAIR-BLUE/BLUE

174~ NYLON TUBING PAIR SPOOLED TOGETHER @

EQUAL LNGTH (JOB)

FT 430

Page 2




Packing List

Aero-Mod, Inc.

7927 U.S. Highway 24
Manhattan, KS 66502
Phone: 785-537-4995
Fax: 785-537-9105

Shipper No:
Ship Date:
Ship Co.:

Contact Name: ZAC PARTLOW
Contact Phone #: 3174367605

Ship To Bill To
MCCORDSVILLE WWTP WALSH CONSTRUCTION
8260 N 600 929 WEST ADAMS STREET

MCCORDSVILLE, IN 46055

CHICAGQO, IL 60607

Your Order No.:

Crate No.: Our Job No.:
Crate #3 2019.6.IN.MCC.20
Qty.

Item ID Description UM Qty. Shipped
1/4> NYLON TUBING PAIR SPOOLED TOGETHER @ |

1/4>" TUBING PAIR-GREEN/GREEN EQUAL LNGTH (JOB) FT 880
1/4> NYLON TUBING PAIR SPOOLED TOGETHER @

1/4 TUBING PAIR-YELLOW/YELLO EQUAL LNGTH (JOB) FT 360
1/4 NYLON TUBING PAIR SPOOLED TOGETHER @

1/4 TUBING PAIR-PURPLE/PURPL EQUAL LNGTH (JOB) - FT 500
1/4> NYLON TUBING PAIR SPOOLED TOGETHER @

1/4" TUBING PAIR-TAN/TAN EQUAL LNGTH (JOB) FT 525
1/4” NYLON TUBING PAIR SPOOLED TOGETHER @

1/4>° TUBING PAIR-PINK/PINK EQUAL LNGTH (JOB) FT 370
1/4" NYLON TUBING PAIR SPOOLED TOGETHER @

1/4>° TUBING PAIR-BROWN/BROWN EQUAL LNGTH (JOB) _ FT 370
1/4” NYLON TUBING PAIR SPOOLED TOGETHER @

1/4>" TUBING PAIR-NATRL/NATRL EQUAL LNGTH (JOB) FT 420
1/4 NYLON TUBING PAIR SPOOLED TOGETHER @

1/4" TUBING PAIR-ORANGE/ORANG EQUAL LNGTH (JOB) _ FT 390
1/4> NYLON TUBING PAIR SPOOLED TOGETHER @

1/4" TUBING PAIR-GREY/GREY EQUAL LNGTH (JOB) FT 285

1/4>° TUBING-BLACK 1/4" BLACK TUBING SPOOLED SEPARATELY (JOB) FT 2185

3/8" TUBING-BLACK 3/8" BLACK TUBING SPOOLED SEPARATELY (JOB) FT 200

WP-42 42" RETURN WEIR PLATE EA 2

SBM-048 48" SCUM BAFFLE FOR 36" CENTER NOTCH EA 2

164PL-4 1/4” OD TUBE BRASS PRESTOLOC TEE EA 2

62PLP-4 1/4 OD TUBE BRASS PRESTOLOC UNION EA 80
1/4> OD TUBE COMPOSIT BODY PRESTOLOC Y

362PLP-4 CONNECTOR EA 25

62PLP-6 3/8" OD TUBE BRASS PRESTOLOC UNION EA 1

164PLP-6 3/8 OD TUBE BRASS PRESTOLOC TEE EA 1
1/4> OD TUBE X 1/8 MPT BRASS PRESTOLOC SWIVEL

W169PLP-4-2 ELL EA 12

Page 3



